
Answer on Question #77227 – Math – Geometry 

 

Question 

 

For the circle of radius 9 feet, find the arc length 𝑠 cut off by a central angle of 6 

degrees. 

 

Solution 

  
Let 𝑠 represent the arc length, 𝜃 represent the central angle in radians and 𝑟 be the 

radius of the circle. Then a central angle of 𝜃 radians in a circle of radius 𝑟 

subtends an arc of length  

𝑠 = 𝑟𝜃. 
We must express 6° in radians 

180°  ─   𝜋 𝑟𝑎𝑑 

6°       ─   𝜃 𝑟𝑎𝑑 

Then 

𝜃 =
6

180
∙ 𝜋 =

𝜋

30
 

The arc length 𝑠 cut off by a central angle of 6 degrees 

𝑠 = 9 𝑓𝑡 (
𝜋

30
) =

3𝜋

10
 𝑓𝑡 

𝐀𝐧𝐬𝐰𝐞𝐫: 𝑠 =
3𝜋

10
 𝑓𝑡 . 
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